



St Sebastians School Yeronga Prep

List A

PLEASE NOTE: All stationery and books will be pooled together, there is no need to cover books or label any items.

		Sp	Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Sketch Pad/Block A3 25 Leaf #60	\$4.77	1	\$4.77			
My School Scrapbook AMH Prep Yr1 Half Page Purple	\$5.55	1	\$5.55			
Scrapbook Mega 64 pg 100gsm	\$2.50	3	\$7.50			
Document Wallet A4 Button Clear	\$1.84	4	\$7.36			
Display Book A4 20 Pocket Assorted	\$2.17	2	\$4.34			
Crayons Twistaz Micador 12's	\$7.13	1	\$7.13			
Coloured Pencils Triangular JUNIOR Faber Castell 10's	\$6.31	1	\$6.31			
Glue Stick Celco 36gm	\$2.66	4	\$10.64			
Marker Faber Connector Wallet 12's	\$5.69	2	\$11.38			
Scissors Micador Sizzle 130mm Right-Handed OR	\$2.96	1	\$2.96			
Scissors Micador Sizzle Left-Handed 130mm	\$2.96	1	\$2.96			
Whiteboard Eraser Mini Magnetic	\$1.82	1	\$1.82			
Whiteboard Flexible 210 x 275 Plain Set (Board/Eraser/Pen)	\$10.81	1	\$10.81			
Marker Whiteboard Bullet Tip Assorted	\$2.52	2	\$5.04			
Play Doh tub	\$4.23	2	\$8.46			
Headphones Soundstorm Inline Mic & Storage Case	\$26.51	1	\$26.51			
Pencil Faber Junior Grip 2B Triangular Box x 12	\$7.61	1	\$7.61			
Writing Time Foundation Queensland 9781741352795	\$14.95	1	\$14.95			
	Total		\$146.10			

Bulk Deliveries

	Specified		pecified	Order	
Product	Price	Qty	Amount	Qty	Your calc
Tissues 2 Ply Large Box This product is delivered in bulk to the school	\$2.73	1	\$2.73		
	Total		\$2.73		

Please purchase from school:

• St Sebastians Homework Satchel (COMPULSORY) - Retain for next year.





St Sebastians School Yeronga Year 1

List A

PLEASE NOTE: All stationery and books will be pooled together, there is no need to cover books or label any items.

	Specified		pecified	Order	
Product	Price	Qty	Amount	Qty	Your calc
Sketch Pad/Block A3 25 Leaf #60	\$4.77	1	\$4.77		
Exercise Book A4 Yr 1 48 Pg with margin	\$1.12	3	\$3.36		
Play/Activity Scrapbook (Plain and Lined pages) 64 Pg 10mm/Plain (Playbook)	\$2.36	2	\$4.72		
Scrapbook Blue 72 Page 70gsm	\$2.36	3	\$7.08		
Document Wallet A4 Button Clear	\$1.84	2	\$3.68		
Display Book A4 20 Pocket Assorted	\$2.17	2	\$4.34		
Crayons Twistaz Micador 12's	\$7.13	1	\$7.13		
Coloured Pencils Triangular JUNIOR Faber Castell 10's	\$6.31	1	\$6.31		
Glue Stick Celco 36gm	\$2.66	4	\$10.64		
Marker Faber Connector Wallet 12's	\$5.69	1	\$5.69		
Scissors Micador Sizzle 130mm Right-Handed OR	\$2.96	1	\$2.96		
Scissors Micador Sizzle Left-Handed 130mm	\$2.96	1	\$2.96		
Marker Whiteboard Bullet Tip Assorted	\$2.52	2	\$5.04		
Play Doh tub	\$4.23	1	\$4.23		
Pencil Faber Junior Grip 2B Triangular Box x 12	\$7.61	1	\$7.61		
Sharpener Metal 2 Hole	\$1.33	1	\$1.33		
Eraser Micador Large 3020	\$0.46	1	\$0.46		
Writing Time 1 Queensland 9781741352801	\$14.95	1	\$14.95		
	Total		\$97.26		

List B

Only order List B items if you do not have them from a previous year.

Headphones from 2022 will move with child to 2023 class. 2022 teacher will advise if new headphones are to be purchased.

		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Headphones Soundstorm Inline Mic & Storage Case	\$26.51	1	\$26.51		
	Total		\$26.51		

Bulk Deliveries

	Specified		Order		
Product	Price	Qty	Amount	Qty	Your calc
Tissues 2 Ply Large Box This product is delivered in bulk to the school	\$2.73	1	\$2.73		
	Total		\$2.73		

Please purchase from school:

• St Sebastians Homework Satchel (COMPULSORY) - Retained from last year.

• My Mini Music Book 1 - Supplied by school, included in fees.





St Sebastians School Yeronga Year 2

List A

PLEASE MARK EACH ITEM ie. every pencil, not just the box of pencils.

		Sp	pecified		Order
Product	Price	Qty	Amount	Qty	Your calc
Sketch Pad/Block A3 25 Leaf #60	\$4.77	1	\$4.77		
Exercise Book A4 Yr 2 48 Pg (Yr 2 Ruled with margin)	\$1.12	7	\$7.84		
Exercise Book Yr 2 48 Page 225x175mm	\$0.70	3	\$2.10		
GRID Book A4 10mm 48Pg	\$1.18	2	\$2.36		
Play/Activity Scrapbook (Plain and Lined pages) 64 Pg 10mm/Plain (Playbook)	\$2.36	3	\$7.08		
Pencil Case Schoolstuff Standard 34 x 17cm 2 Zip	\$5.44	1	\$5.44		
Document Wallet A4 Button Clear	\$1.84	3	\$5.52		
Display Book A4 20 Pocket Assorted	\$2.17	2	\$4.34		
Coloured Pencils Micador ColouRush 100% FSC 12's	\$4.57	1	\$4.57		
Crayons Twistaz Micador 12's	\$7.13	2	\$14.26		
Highlighter Wallet of 4 (Orange Yellow Pink Green)	\$4.77	1	\$4.77		
Glue Stick Celco 36gm	\$2.66	6	\$15.96		
Marker Faber Connector Wallet 12's	\$5.69	1	\$5.69		
Pencil HB Staedtler Raw Box of 12	\$4.77	1	\$4.77		
Whiteboard Eraser Mini Magnetic	\$1.82	1	\$1.82		
Marker Whiteboard Bullet Tip Assorted	\$2.52	2	\$5.04		
Ruler Plastic School 30cm Clear	\$0.72	1	\$0.72		
Sharpener Metal 2 Hole	\$1.33	1	\$1.33		
Eraser Micador Large 3020	\$0.46	4	\$1.84		
Writing Time 2 Queensland 9781741352818	\$14.95	1	\$14.95		
	Total		\$115.17		

List B

Only order List B items if you do not have them from a previous year.

Headphones from 2022 will move with child to 2023 class. 2022 teacher will advise if <u>new headphones are to be purchased</u>.

			Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Scissors Micador Sizzle 130mm Right-Handed OR	\$2.96	1	\$2.96			
Scissors Micador Sizzle Left-Handed 130mm	\$2.96	1	\$2.96			
Headphones Soundstorm Inline Mic & Storage Case	\$26.51	1	\$26.51			
	Total		\$32.43			

Bulk Deliveries

These items are delivered in bulk to school. They must be ordered online by 30 December and are not available for purchase when you shop in store.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Copy Paper Ream A4 80 GSM This product is delivered in bulk to the school	\$6.49	1	\$6.49		
Tissues 2 Ply Large Box This product is delivered in bulk to the school	\$2.73	1	\$2.73		
	Total		\$9.22		

Please purchase from school:

- St Sebastians Homework Satchel (COMPULSORY) Retained from last year
- My Mini Music Book 2 Supplied by school, included in fees.

Please also supply an old shirt for painting.





St Sebastians School Yeronga Year 3

List A

PLEASE MARK EACH ITEM ie. every pencil, not just the box of pencils.

		Sp	pecified		Order
Product	Price	Qty	Amount	Qty	Your calc
Sketch Pad/Block A3 25 Leaf #60	\$4.77	1	\$4.77		
Exercise Book 48 Pg 225x175mm	\$0.68	3	\$2.04		
GRID Book A4 10mm 48Pg	\$1.18	2	\$2.36		
Exercise Book A4 Yr 3/4 Ruled 48 Pg (with Margin)	\$1.12	14	\$15.68		
Pencil Case Schoolstuff Standard 34 x 17cm 2 Zip	\$5.44	1	\$5.44		
Display Book A4 20 Pocket Assorted	\$2.17	2	\$4.34		
Document Wallet Polypropylene F/C Assorted Velcro Closure	\$1.82	2	\$3.64		
Clipboard Folder A4 PVC Assorted	\$3.85	1	\$3.85		
Coloured Pencils Micador ColouRush 100% FSC 12's	\$4.57	1	\$4.57		
Crayons Twistaz Micador 12's	\$7.13	1	\$7.13		
Highlighter Wallet of 4 (Orange Yellow Pink Green)	\$4.77	1	\$4.77		
Glue Stick Celco 36gm	\$2.66	5	\$13.30		
Marker Faber Connector Wallet 12's	\$5.69	1	\$5.69		
Pencil HB Staedtler Raw Box of 12	\$4.77	2	\$9.54		
Marker Whiteboard Bullet Tip Assorted	\$2.52	2	\$5.04		
Marker Sharpie Permanent Fine Black (1.0mm)	\$2.66	1	\$2.66		
Paintbrush Roymac 777 Flat Size 8 Short Black Handle	\$0.70	1	\$0.70		
Ruler Plastic School 30cm Clear	\$0.72	1	\$0.72		
Sharpener Metal 2 Hole	\$1.33	1	\$1.33		
Eraser Micador Large 3020	\$0.46	6	\$2.76		
Writing Time 3 Queensland 9781741352825	\$14.95	1	\$14.95		
	Total		\$115.28		

List B

Only order List B items if you do not have them from a previous year.

Headphones from 2022 will move with child to 2023 class. 2022 teacher will advise if <u>new headphones are to be purchased</u>.

		Specified		(Order
Product	Price	Qty	Amount	Qty	Your calc
Scissors Micador Sizzle 130mm Right-Handed OR	\$2.96	1	\$2.96		
Scissors Micador Sizzle Left-Handed 130mm	\$2.96	1	\$2.96		
Recorder Yamaha YRS24B	\$13.60	1	\$13.60		
Headphones Soundstorm Inline Mic & Storage Case	\$26.51	1	\$26.51		
	Total		\$46.03		

Book Covers

Optional, adjust quantities as required.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Book Covers Clear A4 Exercise Books Pack of 5 Covers	\$6.65	1	\$6.65		
	Total		\$6.65		

Bulk Deliveries

These items are delivered in bulk to school. They must be ordered online by 30 December and are not available for purchase when you shop in store.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Copy Paper Ream A4 80 GSM This product is delivered in bulk to the school	\$6.49	1	\$6.49		
Tissues 2 Ply Large Box This product is delivered in bulk to the school	\$2.73	1	\$2.73		
	Total		\$9.22		

Please purchase from school:

- St Sebastians Homework Satchel (COMPULSORY) Retained from last year
- My Mini Music Book 3 Supplied by school, included in fees
- School Diary Supplied by school, included in fees.

Please also supply an old shirt for painting.





St Sebastians School Yeronga Year 4

List A

PLEASE MARK EACH ITEM ie. every pencil, not just the box of pencils. Please keep the pencil case from Year 3 and bring to school.

Specified		Order			
Product	Price	Qty	Amount	Qty	Your calc
Sketch Pad/Block A3 25 Leaf #60	\$4.77	1	\$4.77		
Exercise Book 48 Pg 225x175mm	\$0.68	3	\$2.04		
GRID Book A4 10mm 48Pg	\$1.18	2	\$2.36		
Exercise Book A4 Yr 3/4 Ruled 48 Pg (with Margin)	\$1.12	14	\$15.68		
Display Book A4 20 Pocket Assorted	\$2.17	2	\$4.34		
Document Wallet Polypropylene F/C Assorted Velcro Closure	\$1.82	3	\$5.46		
Coloured Pencils Micador ColouRush 100% FSC 12's	\$4.57	4	\$18.28		
Crayons Micador Oil Pastels 12 Regular	\$3.09	1	\$3.09		
Highlighter Wallet of 4 (Orange Yellow Pink Green)	\$4.77	1	\$4.77		
Glue Stick Celco 36gm	\$2.66	8	\$21.28		
Marker Faber Connector Wallet 12's	\$5.69	1	\$5.69		
Pencil HB Staedtler Raw Box of 12	\$4.77	3	\$14.31		
Marker Whiteboard Bullet Tip Assorted	\$2.52	3	\$7.56		
Marker Sharpie Permanent Fine Black (1.0mm)	\$2.66	1	\$2.66		
Paintbrush Roymac 1600F Size 4 Long Natural Lacquered Handle	\$0.64	1	\$0.64		
Ruler Plastic School 30cm Clear	\$0.72	1	\$0.72		
Sharpener Metal 2 Hole	\$1.33	2	\$2.66		
Eraser Micador Large 3020	\$0.46	5	\$2.30		
	Total		\$118.61		

List B

Only order List B items if you do not have them from a previous year.

Headphones from 2022 will move with child to 2023 class. 2022 teacher will advise if new headphones are to be purchased...

		Specified		(Order
Product	Price	Qty	Amount	Qty	Your calc
Pencil Case Schoolstuff Standard 34 x 17cm 2 Zip	\$5.44	1	\$5.44		
Scissors Micador Sizzle 130mm Right-Handed OR	\$2.96	1	\$2.96		
Scissors Micador Sizzle Left-Handed 130mm	\$2.96	1	\$2.96		
Recorder Yamaha YRS24B	\$13.60	1	\$13.60		
Headphones Soundstorm Inline Mic & Storage Case	\$26.51	1	\$26.51		
	Total		\$51.47		

Book Covers

Optional, adjust quantities as required.

		Sp	Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Book Covers Clear A4 Exercise Books Pack of 5 Covers	\$6.65	3	\$19.95		
	Total		\$19.95		

Bulk Deliveries

These items are delivered in bulk to school. They must be ordered online by 30 December and are not available for purchase when you shop in store.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Copy Paper Ream A4 80 GSM This product is delivered in bulk to the school	\$6.49	1	\$6.49		
Tissues 2 Ply Large Box This product is delivered in bulk to the school	\$2.73	1	\$2.73		
	Total		\$9.22		

Please purchase from school:

- St Sebastians Homework Satchel (COMPULSORY) Retained from last year
- My Mini Music Book 4 Supplied by school, included in fees
- School Diary Supplied by school, included in fees.

Please also supply an old shirt for painting.





St Sebastians School Yeronga Year 5

List A

PLEASE NOTE: All items should be labelled.

		Sp	pecified		Order
Product	Price	Qty	Amount	Qty	Your calc
Sketch Pad/Block A3 25 Leaf #60	\$4.77	1	\$4.77		
Exercise Book A4 64 Pg (with margin)	\$1.16	10	\$11.60		
Exercise Book 48 Pg 225x175mm	\$0.68	5	\$3.40		
Grid Book A4 7mm 48 Pg	\$1.18	3	\$3.54		
Notebook #563A 200mm x 127mm 200pg	\$2.71	1	\$2.71		
Display Book A4 20 Pocket Assorted	\$2.17	6	\$13.02		
Document Wallet Polypropylene F/C Clear	\$1.82	2	\$3.64		
Coloured Pencils Micador ColouRush 100% FSC 12's	\$4.57	1	\$4.57		
Crayons Micador Oil Pastels 12 Regular	\$3.09	2	\$6.18		
Highlighter Wallet of 4 (Orange Yellow Pink Green)	\$4.77	1	\$4.77		
Glue Stick Celco 36gm	\$2.66	2	\$5.32		
Markers Coloured Micador Basic Fine Tip 12's	\$2.37	1	\$2.37		
Pencil HB Staedtler Raw Box of 12	\$4.77	1	\$4.77		
Marker Whiteboard Bullet Tip Assorted	\$2.52	1	\$2.52		
Marker Sharpie Permanent Fine Black (1.0mm)	\$2.66	2	\$5.32		
Paintbrush Roymac 777 Flat Size 4 Short Black Handle	\$0.63	1	\$0.63		
Paintbrush Roymac 777 Flat Size 8 Short Black Handle	\$0.70	1	\$0.70		
Ruler Plastic School 30cm Clear	\$0.72	1	\$0.72		
Sharpener Metal 1 Hole	\$0.75	1	\$0.75		
Stapler Celco No. 10 with Staples	\$5.44	1	\$5.44		
Eraser Micador Large 3020	\$0.46	2	\$0.92		
Protractor Half Circle 180° 10cm	\$0.61	1	\$0.61		
	Total		\$88.27		

List B

Only order List B items if you do not have them from a previous year.

Headphones from 2022 will move with child to 2023 class. 2022 teacher will advise if <u>new headphones are to be purchased</u>.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Scissors Micador Sizzle Med/Lge OR	\$5.31	1	\$5.31		
Scissors Micador Sizzle Med/Lge Left-Handed	\$5.31	1	\$5.31		
Recorder Yamaha YRS24B	\$13.60	1	\$13.60		
Headphones Soundstorm Inline Mic & Storage Case	\$26.51	1	\$26.51		
	Total		\$50.73		

Book Covers

Optional, adjust quantities as required.

		Specified		Specified		(Order
Product	Price	Qty	Amount	Qty	Your calc		
Book Covers Clear A4 Exercise Books Pack of 5 Covers	\$6.65	1	\$6.65				
	Total		\$6.65				

Bulk Deliveries

These items are delivered in bulk to school. They must be ordered online by 30 December and are not available for purchase when you shop in store.

		Specified		(Order	
Product	Price	Qty	Amount	Qty	Your calc	
Copy Paper Ream A4 80 GSM This product is delivered in bulk to the school	\$6.49	1	\$6.49			
Tissues 2 Ply Large Box This product is delivered in bulk to the school	\$2.73	1	\$2.73			
	Total		\$9.22			

Please purchase from school:

- St Sebastians Homework Satchel (COMPULSORY) Retained from last year
- Vivo Senior Music Workbook Supplied by school, included in fees
- School Diary Supplied by school, included in fees.

Please also supply an old shirt for painting.





St Sebastians School Yeronga Year 6

List A

PLEASE NOTE: All items should be labelled.

		Sp	pecified		Order
Product	Price	Qty	Amount	Qty	Your calc
Sketch Pad/Block A3 25 Leaf #60	\$4.77	1	\$4.77		
Exercise Book A4 64 Pg (with margin)	\$1.16	10	\$11.60		
Exercise Book 48 Pg 225x175mm	\$0.68	5	\$3.40		
Grid Book A4 7mm 48 Pg	\$1.18	3	\$3.54		
Notebook #563A 200mm x 127mm 200pg	\$2.71	1	\$2.71		
Display Book A4 20 Pocket Assorted	\$2.17	6	\$13.02		
Document Wallet Polypropylene F/C Clear	\$1.82	2	\$3.64		
Coloured Pencils Micador ColouRush 100% FSC 12's	\$4.57	1	\$4.57		
Highlighter Wallet of 4 (Orange Yellow Pink Green)	\$4.77	1	\$4.77		
Glue Stick Celco 36gm	\$2.66	2	\$5.32		
Markers Coloured Micador Basic Fine Tip 12's	\$2.37	1	\$2.37		
Pencil HB Staedtler Raw Box of 12	\$4.77	1	\$4.77		
Marker Whiteboard Bullet Tip Assorted	\$2.52	1	\$2.52		
Marker Sharpie Permanent Fine Black (1.0mm)	\$2.66	1	\$2.66		
Paintbrush Series 907 Premium White Taklon Size 6 (956 Micador)	\$8.51	1	\$8.51		
Ruler Plastic School 30cm Clear	\$0.72	1	\$0.72		
Sharpener Metal 1 Hole	\$0.75	1	\$0.75		
Eraser Micador Large 3020	\$0.46	2	\$0.92		
Protractor Half Circle 180° 10cm	\$0.61	1	\$0.61		
	Total		\$81.17		

List B

Only order List B items if you do not have them from a previous year.

Headphones from 2022 will move with child to 2023 class. 2022 teacher will advise if new headphones are to be purchased.

		Sp	pecified		Order
Product	Price	Qty	Amount	Qty	Your calc
Crayons Micador Oil Pastels 12 Regular	\$3.09	1	\$3.09		
Scissors Micador Sizzle Med/Lge OR	\$5.31	1	\$5.31		
Scissors Micador Sizzle Med/Lge Left-Handed	\$5.31	1	\$5.31		
Recorder Yamaha YRS24B	\$13.60	1	\$13.60		
Headphones Soundstorm Inline Mic & Storage Case	\$26.51	1	\$26.51		
Paintbrush Roymac 777 Flat Size 4 Short Black Handle	\$0.63	1	\$0.63		
Paintbrush Roymac 777 Flat Size 8 Short Black Handle	\$0.70	1	\$0.70		
Stapler Celco No. 10 with Staples	\$5.44	1	\$5.44		
	Total		\$60.59		

Book Covers

Optional, adjust quantities as required.

		Sp	Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Book Covers Clear A4 Exercise Books Pack of 5 Covers	\$6.65	1	\$6.65		
	Total		\$6.65		

Bulk Deliveries

These items are delivered in bulk to school. They must be ordered online by 30 December and are not available for purchase when you shop in store.

		Specified		(Order	
Product	Price	Qty	Amount	Qty	Your calc	
Copy Paper Ream A4 80 GSM This product is delivered in bulk to the school	\$6.49	1	\$6.49			
Tissues 2 Ply Large Box This product is delivered in bulk to the school	\$2.73	1	\$2.73			
	Total		\$9.22			

Please purchase from school:

- St Sebastians Homework Satchel (COMPULSORY) Retained from last year
- Vivo Senior Music Workbook Supplied by school, included in fees
- School Diary Supplied by school, included in fees.

Please also supply an old shirt for painting.